



Determinants of Heart Rate Recovery in Patients with Suspected Coronary Artery Disease

Nonaka, Akiko

(Degree)

博士 (医学)

(Date of Degree)

2007-03-06

(Date of Publication)

2013-03-18

(Resource Type)

doctoral thesis

(Report Number)

乙2929

(URL)

<https://hdl.handle.net/20.500.14094/D2002929>

※ 当コンテンツは神戸大学の学術成果です。無断複製・不正使用等を禁じます。著作権法で認められている範囲内で、適切にご利用ください。



Determinants of Heart Rate Recovery in Patients with Suspected Coronary Artery Disease

AKIKO NONAKA¹, HIDEYUKI SHIOTANI², KIMIKO KITANO²
and MITSUHIRO YOKOYAMA³

Department of Cardiovascular and Respiratory Medicine, Hyogo Cancer Center¹,

Faculty of Health Sciences, Kobe University School of Medicine²,

Department of Internal Medicine, Kobe University Graduate School of Medicine³

Received 15 December 2006 /Accepted 11 January 2007

Key Words: Heart rate recovery, Heart rate at rest, Left ventricular geometry, Myocardial ischemia

Background: Heart rate recovery after exercise is an independent prognostic indicator for cardiovascular and all-cause mortality. The purpose of this study was to clarify the clinical determinants of heart rate recovery.

Methods and results: We examined 114 consecutive male patients who underwent exercise myocardial perfusion single-photon emission computed tomography and echocardiography for the evaluation of suspected coronary artery disease. Heart rate recovery was obtained from the subtraction of heart rate in the first minute of recovery after exercise from maximal heart rate during exercise. Abnormal heart rate recovery was present in 50 patients (43.9%). Patients with abnormal heart rate recovery were more likely to have diabetes mellitus.

Patients with abnormal heart rate recovery had a higher heart rate at rest than those with normal heart rate recovery (77.5 ± 13.6 vs. 72.3 ± 12.5 (bpm), $p < 0.05$). However, no differences in left ventricular geometry investigated with echocardiography were observed between patients with normal and abnormal heart rate recovery. Furthermore, there was no difference in various scintigraphic variables between patients with normal and abnormal heart rate recovery. A stepwise multivariate analysis showed that heart rate at rest and diabetes mellitus were independent predictors of heart rate recovery ($p < 0.05$).

Conclusion: Our results suggested that heart rate recovery is associated with clinical factors related to the cardiac autonomic function such as diabetes mellitus and heart rate at rest, but not with other ones such as left ventricular geometry and myocardial ischemia.

Clinical and observational studies have shown that heart rate recovery (HRR) immediately after exercise is a strong predictor of cardiovascular and overall mortality, independently of cardiac risk factors, and exercise test results (3, 9, 11, 15).

Cardiac autonomic dysfunction is likely to play an important role in the reduced HRR immediately after exercise (1, 7, 13, 14). However, other clinical factors such as left ventricular geometry, left ventricular function and myocardial ischemia may contribute to the impaired HRR. Therefore, the purpose of this study was to clarify the clinical determinants of HRR.

MATERIALS AND METHODS

Subjects

The population of the present study consisted of 114 consecutive male patients who underwent exercise myocardial perfusion single-photon emission computed tomography (SPECT) for the evaluation of suspected coronary artery disease.

Hypertension was defined by a history of blood pressure $>140/90$ mmHg and/or antihypertensive drug use. Diabetes mellitus (DM) was diagnosed by the World Health Organization criteria (17) to be fasting glucose greater than 140mg/dl, 2-hour postchallenge glucose was greater than 200mg/dl or patients who were receiving hypoglycemic medication. No patients on medication with β -adrenergic blockers or other drugs with a direct influence on the heart rate, such as digitalis, calcium channel blockers with chronotropic action, or other antiarrhythmic agents were included in this study. In this study, 31 patients were receiving antihypertensive medication with either angiotensin receptor blockers, angiotensin-converting enzyme inhibitors, or combinations thereof. The purpose and risk of this study were explained to each patient before written informed consent was obtained.

Echocardiography

Subjects were examined in the left lateral decubitus position using a standard commercial ultrasound sonography (ACUSON Sequoia C256) with a 3.5 MHz phased array probe. The images were acquired from 2 standard views: the short-axis and the apical long-axis view of the left ventricle. In the short-axis view, images obtained at the level of the papillary muscles were used for analysis. Left ventricular diameters and wall thickness were measured from two-dimensional targeted M-mode echocardiography. In the apical long-axis view, transmitral flow velocity patterns were obtained by pulsed doppler images. We examined the following parameters and findings: left ventricular end-diastolic dimension (LVDd); left ventricular end-systolic dimension (LVDs); left ventricular percent fractional shortening (%FS); end-diastolic thickness of ventricular septum (IVS); end-diastolic thickness of left ventricular posterior wall (PW); peak early ventricular diastolic filling velocity (E); late ventricular diastolic filling velocity (A) and the deceleration time of early diastolic filling wave (E-DCT).

Exercise myocardial perfusion SPECT

After 5 minutes of supine rest, a 3-lead electrocardiogram was obtained at baseline for 1 minute. Exercise stress testing by bicycle ergometer was performed with continuous in all subjects. At peak exercise, thallium-201 111 MBq was injected intravenously and the patient continued to exercise at the same workload for an additional 1 minute. Blood pressure and cardiac status were monitored using 3 electrocardiographic leads and recorded during the exercise and at 1-minute intervals for 5 minutes after exercise. Exercise was terminated if there was increasing chest pain, a decrease in blood pressure >20 mmHg, limiting dyspnea or fatigue or sustained arrhythmia.

HRR was obtained by subtracting heart rate at the first minute of recovery from peak heart rate obtained during exercise. Abnormal HRR was defined as $HRR \leq 18$ beats per minute (16).

Within 5 min of thallium injection, SPECT images were acquired using a dual-head camera (Picker, PRIZM 2000) with a high-resolution collimator rotated in a 180° orbit. Three hours later, delayed images were obtained. Images were interpreted by 2 experienced observers. Semi-quantitative visual interpretation of myocardial perfusion SPECT was performed with short-axis and vertical long-axis tomograms, which were divided 20 segments according to a method reported elsewhere (6). Each segment was scored by consensus of 2 expert observers who used 5-point grading system (0=normal to 4=absent).

DETERMINANTS OF HEART RATE RECOVERY

The summed stress and the summed rest scores were obtained respectively. The difference between the summed stress score and the summed rest score was defined as the summed difference score (a marker of inducible ischemia). A summed difference score >2 indicated a presence of ischemia.

Statistical analysis

Continuous variables were expressed as mean $\pm$ SD and compared with Mann-Whitney test and categorical variables were compared using the chi-square test. A linear regression model with stepwise addition of clinical, exercise, echocardiographic and scintigraphic variables was created to determine those that were independently associated with HRR. A p value <0.05 defined statistical significant.

RESULTS

Clinical characteristics are summarized in Table 1. Abnormal HRR was present in 50 patients (43.9%). Patients with abnormal HRR were more likely to have DM. HRR was significantly lower in the diabetic patients than in non-diabetic patients (17.8 ± 7.7 vs. 21.6 ± 8.4 (bpm), $p < 0.05$).

Table 2 shows echocardiographic characteristics. Patients with abnormal HRR had a lower % fractional shortening.

Exercise-related and scintigraphic characteristics are presented in Table 3. Patients with abnormal HRR had a higher heart rate at rest. However, there was no difference in various scintigraphic variables, such as summed stress score, summed rest score and summed difference score between patients with normal and abnormal HRR. In addition, there was no difference in HRR between patients with exercise induced ischemia or not.

In the multivariate analysis including all study subjects, the independent predictors of HRR were DM ($\beta = -0.27$, $p = 0.003$) and heart rate at rest ($\beta = -0.19$, $p = 0.04$).

Table 1. Clinical characteristics according to heart rate recovery

	Heart rate recovery		p value
	Normal (n=64)	Abnormal (n=50)	
Age (years)	70.4 $\pm$ 7.7	69.9 $\pm$ 6.2	0.45
Height (cm)	163.6 $\pm$ 7.6	163.6 $\pm$ 5.6	0.82
Weight (kg)	60.5 $\pm$ 8.4	61.7 $\pm$ 8.1	0.31
Body mass index (kg/m ²)	22.6 $\pm$ 2.8	23.1 $\pm$ 2.7	0.39
Hypertension	39 (61%)	40 (80%)	0.40
Diabetes mellitus	17 (27%)	25 (50%)	0.009
Previous myocardial infarction	11 (17%)	13 (26%)	0.18

Table 2. Comparison of echocardiographic characteristics in patients with normal and abnormal heart rate recovery

	Heart rate recovery		p value
	Normal (n=64)	Abnormal (n=50)	
LVDd (mm)	44.7 ± 5.1	44.5 ± 5.8	0.58
LVDs (mm)	27.7 ± 5.3	29.0 ± 6.9	0.53
%FS (%)	38.5 ± 7.0	35.2 ± 9.3	0.04
IVS (mm)	11.8 ± 2.3	11.6 ± 2.9	0.40
PW (mm)	10.0 ± 1.8	9.5 ± 1.9	0.13
IVS+PW (mm)	21.9 ± 3.6	21.2 ± 4.1	0.24
E (m/s)	0.47 ± 0.13	0.48 ± 0.14	0.73
A (m/s)	0.65 ± 0.12	0.70 ± 0.15	0.17
E/A ratio	0.74 ± 0.25	0.70 ± 0.17	0.60
E-DCT (ms)	211.4 ± 57.4	205.5 ± 48.6	0.76

LVDd, left ventricular end-diastolic dimension; LVDs, left ventricular end-systolic dimension; %FS, left ventricular percent fractional shortening; IVS, end-diastolic thickness of ventricular septum; PW, end-diastolic thickness of left ventricular posterior wall; E, peak early ventricular diastolic filling velocity; A, late ventricular diastolic filling velocity; E-DCT, deceleration time of early diastolic filling wave

Table 3. Comparison of exercise and single-photon emission computed tomographic variables in patients with normal and abnormal heart rate recovery

	Heart rate recovery		p value
	Normal (n=64)	Abnormal (n=50)	
Heart rate at rest (bpm)	72.3 ± 12.5	77.5 ± 13.6	0.046
Peak heart rate (bpm)	116.0 ± 12.5	109.9 ± 17.3	0.08
Exercise duration (sec)	331.4 ± 54.0	319.0 ± 69.0	0.36
Summed stress score	3.7 ± 7.1	4.7 ± 8.4	0.41
Summed rest score	2.2 ± 4.8	2.9 ± 5.7	0.31
Summed difference score	1.5 ± 3.9	1.8 ± 4.5	0.56
Presence of ischemia	14 (22%)	13 (26%)	0.38

DISCUSSION

In the present study, we demonstrated that DM and heart rate at rest are associated with HRR in patients with suspected coronary artery disease. Exercise results in prompt withdrawal of parasympathetic tone and subsequent sympathetic activation, while recovery is associated with parasympathetic activation followed by sympathetic withdrawal. HRR is

DETERMINANTS OF HEART RATE RECOVERY

likely associated with parasympathetic activity. In the present study, we demonstrated that HRR was lower in diabetic patients than in non-diabetic patients.

Previous studies have shown that reduced HRR is associated with fasting plasma glucose (12). In our previous study, the development of abnormal HRR is associated with the extent of the autonomic dysfunction in diabetic patients (8). Therefore, our present study confirmed and extended the relation between HRR and DM to ordinary patients with suspected coronary artery disease. Moreover, a significant association was found between HRR and heart rate at rest. This finding is consistent with other studies (2). Heart rate at rest might be a global marker of cardiac autonomic function and patients with high parasympathetic activation usually showed low resting heart rate and baseline oxygen consumption. Thus, it is possible that resting heart rate was the prime independent predictor of HRR. Considering these factors, HRR might be associated with clinical factors related to cardiac autonomic function such as DM and resting heart rate.

In contrast, no significant association was found for left ventricular geometry, or left ventricular function with HRR. The lack of correlation between HRR and left ventricular geometry, left ventricular function in this study also confirmed previous studies showing a poor correlation of HRR with indexes of left ventricular geometry in diabetic patients (4). Thus, HRR is not likely to be influenced by left ventricular geometry and left ventricular function. In the present study, various myocardial SPECT markers such as summed stress score, summed rest score and summed difference score were not associated HRR. Moreover, a presence of myocardial ischemia judging from myocardial SPECT was not associated with HRR. As for myocardial ischemia, Georgouslias et al (5) have shown myocardial ischemia detected by myocardial SPECT to be related to HRR, which is inconsistent with the results of our study. In this study, there was no exclusion of patients on medication with β -adrenergic blockers or other drugs with a direct influence on heart rate such as digitalis and calcium channel blockers with a chronotropic action. Moreover, patients with previous myocardial infarction or heart failure were not involved in their study.

On the contrary, another study has shown that HRR was not associated with SPECT markers of myocardial ischemia (10). Therefore, the difference in study population may explain the disparity in results between the present and other studies. In addition, previous studies showed that abnormal HRR and exercise induced myocardial ischemia were independent predictors of all-cause mortality (15). These findings suggest that the mechanism of increased mortality associated with HRR might be more related to autonomic dysfunction than to the presence or extent of myocardial ischemia. Thus, HRR is not likely to be associated with myocardial ischemia. However, further research is needed to elucidate the role of ischemia on HRR.

In conclusion, HRR was associated with clinical factors related to the cardiac autonomic function, but not with other ones such as left ventricular geometry, left ventricular function and myocardial ischemia.

REFERENCES

1. **Arai Y, Saul JP, Albecht P, Hartley LH, Lilly LS, Cohen RJ, Colucci WS.** 1989. Modulation of cardiac autonomic activity during and immediately after exercise. *Am J Physiol.* **256:** H132-H141
2. **Carnethon MR, Golden SH, Folsom AR, Haskell W, Liao D.** 2003. Prospective investigation of autonomic function and the development of type 2 diabetes: the Atherosclerosis Risk in Communities Study, 1987-1998. *Circulation.* **107:** 2190-2195
3. **Cole CR, Blackstone EH, Pashkow FJ, Snader CE, Lauer MS.** 1999. Heart rate

- recovery immediately after exercise as a predictor of mortality. *N Engl J Med.* **341**: 1351-1357
4. **Fang ZY, Sharman J, Prins JB, Marwick TH.** 2005. Determinants of exercise capacity in patients with type 2 diabetes. *Diabetes Care.* **28**: 1643-1648
 5. **Georgoulas P, Orfanakis A, Demakopoulos N, Xaplanteris P, Mortzos G, Varidas P, Karkavitsas N.** 2003. Abnormal heart rate recovery immediately after treadmill testing: correlation with clinical, exercise testing, and myocardial perfusion parameters. *J Nucl Cardiol.* **10**: 498-505
 6. **Germano G, Kiat H, Kavanagh PB, Morial M, Mazzanti M, Su HT, Van Train KE, Berman DS.** 1995. Automatic quantification of ejection fraction from gated myocardial perfusion SPECT. *J Nucl Med.* **36**: 2138-2147
 7. **Imai K, Sato H, Hori M, Kusuoka H, Ozaki H, Yokoyama H, Takeda H, Inoue M, Kamada F.** 1994. Vagally mediated heart rate recovery after exercise is accelerated in athletes but blunted in patients with chronic heart failure. *J Am Coll Cardiol.* **24**: 1529-1535
 8. **Kitano K, Shiotani H, Takeshita S.** 2005. Attenuated heart rate recovery immediately after exercise is related to cardiac autonomic dysfunction in diabetic patients. *Jpn J Clin Physiol.* **35**: 347-352
 9. **Lauer MS, Okin PM, Larson MG, Evans JC, Levi D.** 1996. Impaired heart rate response to graded exercise. Prognostic implication of chronotropic incompetence in the Framingham Heart Study. *Circulation.* **93**: 1520-1526.
 10. **Lima RS, De Lorenzo A, Soares AJ.** 2006. Relation between postexercise abnormal heart rate recovery and myocardial damage evidenced by gated single-photon emission computed tomography. *Am J Cardiol.* **97**: 1452-1454
 11. **Nishime EO, Cole CR, Blackstone EH, Pashkow FJ, Lauer MS.** 2000. Heart rate recovery and treadmill exercise score as predictors of mortality in patients referred for exercise ECG. *JAMA.* **284**: 1392-1398
 12. **Panzer C, Lauer MS, Brieke A, Blackstone E, Hoogwerf B.** 2002. Association of fasting plasma glucose with heart rate recovery in healthy adults. A population-based study. *Diabetes.* **51**: 803-807
 13. **Perini R, Orizio C, Comandè A, Castellano M, Beschi M, Veicsteinas A.** 1989. Plasma norepinephrine and heart rate dynamics during recovery from submaximal exercise in man. *Sur J Appl Physiol Occupat Physiol.* **58**: 879-883.
 14. **Savin WM, Davidson DM, Haskell WL.** 1982. Autonomic contribution to heart rate recovery from exercise in human. *J Appl Physiol.* **53**: 1572-1575
 15. **Vivekananthan DP, Blackstone EH, Pothier CE, Lauer MS.** 2003. Heart rate recovery after exercise is a predictor of mortality, independent of the angiographic severity of coronary disease. *J Am Coll Cardiol.* **42**: 831-838
 16. **Watanabe J, Thamilarasan M, Blackstone EH, Thomas JD, Lauer MA.** 2001. Heart rate recovery immediately after treadmill exercise and left ventricular systolic dysfunction as predictors of mortality: the case of stress echocardiography. *Circulation.* **104**: 1911-1916
 17. **WHO Expert Committee on Diabetes Mellitus: Second Report.** 1980. Geneva, Switzerland, World Health Organization, Technical report series, 1980, **646**.